AP Stat 21-2.2 Density Curves, Normal Curves

Pg. 101 — list out the three things thai(z;ake a 7ensity curve
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pg. 103 — list out how to distinguish between the mean and median in a density curve

The median o & Aensity s whupe )
o (e split in (chvide mrea undug (U in ’/z)

“halan point - Whe e CUve odd bl ane
WhatisthetotIafa%ragﬁ\r&?u /PO{ \‘F ”’\ﬂ\/u OpSOI\%MMfPIq]

00!

| %_EP 1
Standand Daviakions

This is a normal curve. At the ends (past 3 standard deviations) you need to WRITE IN 0.15% on each side.

The entire curve adds up to hi; %

- With a yellow, color the entire curve (end to end) /
- With ared, color from —30 to 30. Add those percentages together. What is it? qq % '
- With a blue, color from —20 to 20. Add those percentages together. What is it? 35'/- .

- With a green, color from —10¢ to 1o. Add those percentages together. What is it? fz E 5 [

You have just done the Empirical Rule.

Now write it clearly down here. (08
Between 10 from the mean either direction / of the data lies
Between 20 from the mean either direction Ezf 2/ of the data lies

Between 30 from the mean e_ither direction EZ 7 . z/of the data lies
THE ENTIRE CURVE IS &



What always goes down the middle of your curve?
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How do you count on either side of the mean? What distance are you moving?
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Practice with this problem. You will need to draw a curve.

The 1Q scores of our class are normally distributed with a mean of 125 and a standard deviation of 14. Draw out a curve

below and label what you know.l
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What percent of the data is above a score of 125? What percent of data is between 111 and 153?
What percent of the data is less than 977? What percent of the data is above 139?
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What is the probability of finding an 1Q above 0? What is the probability of finding an 1Q score below 0?
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What is the probability of the entire curve?
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